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Syllabus and Marks Distribution
Academic year-2020
Class : One
Subject : English

Text Book : English for Today (Class — One) By NCTB

Half Yearly Examination
Units: 1 —15 (Page No : 1 —31)

Vocabulary : First 2 pages of vocabulary from text book.

Rhymes :

1. Goodbye, Goodbye (Page-6)
2. 3 Little Tigers (Page — 14)
3. Look left (Page — 20)

4. 2 Hands go (Page — 26)

First Class Test : Unit: 1 -3
Rhymes : 1, Little Tigers. 2. Look Left.
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Annual Examination

Unit : 16 — 30 (Page No. : 32 — 60)
Vocabulary : (The last 2 pages of Vocabulary)
Rhymes :

1. Rain, rain, go away (Page — 34)
2. Counting cats (Page — 42)

3. Ring ..... Ring (Page — 50)

4.1, 2 put on your shoe (Page — 54)
5.1,2,3,4,5 (Page — 56)

2" Class test : Unit : 16 — 21
Rhymes :

1. Rain, rain, go away

2. Counting cats.

Marks Distribution

1. Write English alphabet (Capital / small letter) 5 marks on

accuracy and 5 marks on handwriting ........ 10
2. Make words using the given letters at the beginning words
1x10=10
3. Make words putting a letter in each blank box (10 words)
1x10=10
4. Make meaningful words with jumbled letter (10 words)
1x10=10
5. Word meaning (English to Bengali 10 words) 1x10=10
6. Fill in the blanks with appropriate words (10 blanks) 1x10=10
7. Write the next lines (5 lines) 2x5=10
8. Make sentences with the given words (5 sentences) 2x5=10
9. Answering questions (5 questions) 2x5=10
10. Rhyme (1 Rhyme) 10
Total =100

(Note : No alternative will be given for any item of questions
marks distribution may be changed if necessary).
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